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Warm Up Grade 8 Perfect Squares

9 16
25 36
49 64

At ] 81 100

Use product of perfect squares to find the square root of the follg izé 13‘6‘

(a) 5184 (b) 5929 (c) 7056 225

(d) 1089 (e) 576 (f) 11 025

' J44 x B
J5184 - J 3 %ty \
MV mam (em

- 12x b
Ax % A2

D999 = (121 xuq
= Ju x 8

= W\ x7
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Warm Up Grade 8

solutions
Use product of perfect squares to find the square root of the following:
(a) 5184 (b) 5929 (c) 7056
Perfect Squares
(d) 1089 (e) 576 (f) 11 025 ; 12
25 36
49 o4
81 100
121 144
169 196
a) X ! S\%"l = \’ N X3b 225

= (T x{3%
= QA Xb

= a
Eﬁ(ﬁ:ﬂa

Quiz
V1
Name:

1) Square the following numbers (Show the correct symbol. You can
use a calculator)

a)9 b) 4 c) 16 d) V144

2) Square root the following numbers (Show the correct symbol. You
can use a calculator)

a) 25 b) 225 c) 82 d) 36

3) Find the V576 using the product of perfect squares
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Quiz
V2
Name:

1) Square root the following numbers (Show the correct symbol. You
can use a calculator)

a) 49 b) 4 c) 81 d) 9°

2) Square the following numbers (Show the correct symbol. You can
use a calculator)

a) 12 b) 25 c) V169 d) 3

3) Find the Y1089 using the product of perfect squares
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Bch’ﬁ—:-,

o) {0 =/2
e) Nt = 4
) -

Moy 3Z9

9=3

==
-

©) 10*=160

5 ’{#—q— :7 Homework Solutions
o) {9 =3

$ {T =10
25 byAEm=l5

Y r=32p
GL=0b

dH {7 =117

Sjob= 10

5. <F-1

O) $025=
16y 16 =225

Sb.@ﬁ'g‘;Lé

lo. @m =13

by 314 = ||

N 261206

20

9 121
16 144
25 169

196
49 225
64

—

36

Homework Solutions
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,q'“) ml 3"\ H'\ﬁ
b3, 2
ek L b A4S, 4,30, 3k
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20, D
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a 16

= 491, 41, /1 %}
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Prime numbers are numbers that are only
divisible by 1 and itself

2,3,5, 7,11,13,17,19, 23, 29,...

Finding the square root using prime factorization

Pewe 4 3 2,3,5,71, ), \D, W25 -~
To find the square root of number usi‘ng prime factorization, you first
have to write the number as a product of prime numbers. You can
use a factor tree to write a number as a product of prime numbers.

Step 1) Find the prime Factors of 400

400
N\
@ ago
100

&0\ Per]fect Sq\:tares
Q) 29 9 16
Hop < b “ge | 4

121 144

put in pairs 169 196
25

Step 2) Eind.the square root by putting the factors in pairs, undera v

then calculate.
i VAD0 = Vfxe R KEET) e
Separate MRI(S
\) 400 = '\/I_X_'L)X \/('7_1:7__—)X (&) separate

calculate the v of each pair remember the
22 =\F=2

V400 = & X 2% 5

ber.
15 13, 17, 19,23, 29
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Now find the 324, using each method below:
(a)product of perfect squares

(b)prime factorization

(c) Factors

a) product of perfect squares

Peime B 2 2.3,50)11, 13 14,25 -

b) prime factorization

N3 = ] @) x (3x3)x (3x3)
= m@& X33
7 %3 x3
13

e

C) Factors

Now find the 324, using each method below:
(a)product of perfect squares

Solutions

Perfect Squares
1 4
9 16
25 36
49 64
81 100

121
169
225

Solutions

324

November 07, 2019

@ %
®21

(b)prime factorization
(c) Factors

a) ?roc\ué,: ?S'?GI'S‘CJ-‘L %,uares zg

1229 = {Axe 3 i
= K7 %9 o
= 219
324
b) ?“.\vﬂ"* Foc‘korl\2&£|8\ ‘-l-/\gl
A= Ax243x3¢353 A
2 2 9
\FETES 12T MY Yeve ) ~
=2 1r3+v3 4% 33
= \%
o Y
F\-\J\ -H\e. Sac %{g
»5341,‘7«1:2 19,2734 3% 109
4 @\ 1%, /b2, 324 i 2
Ddo\ huaber 28 fadars, %3

$o324 s o
Nodkle nuinber is /2

So@ =13

d square, ’PQ

o

$3
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Now find the 256, using each method below:
(a)product of perfect squares

Perfect Squares
(b)prime factorization 1 q4
9 16
25 36
49 64
81 100
121 144
169 196
225

Find the square root of 256 using prime factorization

' Solutions
256 . 28k
32 £ a2z
‘i\;{ é\\gx\ OR L ?f\
Q2322
2 1‘%

2 32
/
£y
7\
2
26 Ak A Axx 2 A
o = BB RS A
= & X A X * A 2/
= b
b) Find the square root of 256 using product of
squares —_—

—5 < { HXb L'I' Qrb\ud:
ok ; x;\"ﬂ et
Y.
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2. Find the square root of the following, using prime factorizaion:
(a), ’ 1444 (b)., ; 784 (€)4 /2025 (d). 2304

Cclé.\/ rSa
Qt%nv‘g:?\c:‘-u 13, 1,9,23,29 b(/\ﬂ

‘Homework Nov. 7 (Grade 8)

1. Use the product of p t squares to fi e following square roots:
(ap 1296 (bn/1089 (ch/1764 (d), /‘5216

2. Find the square root of the following, using prime factorizaion:
(a)n/376 (h)«.} 784 (c)4 /2025 (dh,‘ZSﬂd
1
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1. Use the product of p rfect squares to find the follo ing square roots:
(a)f 1296 108 (1764 (d), 521

2. Find the square root of the following, using prime factorizaion:

(a)\/ﬁ (b)[784 (©+P025 (). P304
lod b 574
{1296 = {36 »3L > A
= byl /3 1}1\
=3t 2y ¢19
1/\ ANAS
6 < K] 1i33
—F?’Tx 'r"_'ﬁ 2 2
33"‘.'2 {52 {2,0)xi2 22 x3x3
= .21\42 X2 %3
5/1 b 576 = X AAK KD X5¥3
1332 AF= {adadld e
< 4};\%/\ = 2 x2x2%X3
£33 'zi =24
2 2
94 Q@Y =2x2xRA%2 X 1x 7
| k 4734 -"&KQW’QX_D
i/‘ta- :’l\:l = 2%

2025 2304
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b {95k 7/%:*
HAzaad i) N
< 2% /NN
L 2 22
o (o7 2025
=dls X8 )83 3x3\ >\s /\f1
T 5%x3x3 5s j\ /\
= 4§ 3533
) {30t 2304
- T ayay 2 x x3 4 \57/4\
=2 w2 x2x2x3 ;{\;_ g‘l%\
3
22 ’-}‘7’\
a2a

1. Find the square root of the following, using prime factorization.
(@729 (b,\PWs (c).ﬁzzs

(1764 (eﬁ (mﬁz_%
2. Use the product of perfect squares to find the following square roots:
(a)f1296 (by ﬁ 089 () ?l 764 (d), f216

Homework Board Questions

1. Find the square root of the following, using prime factorization. Homework Day 2

(ay[729 (bxf3075 (C@ if needed
(@f1764 (W (3!1276

2. Use the product of perfect squares to find the following square roots.
(an/1296 (by, /1089 (c) ;I 764 (9216

1. Find the square root of the following, using prime factorization.
(ay[729 (b;qéo_zs (C)ﬁ 225

(dy1764 (W (\1296

2. Use the product of perfect squares to find the following square roots:
(anf1296 (b3,]1089 (c) ?1764 (dn]9216

1. Find the square root of the following, using prime factorization.
(729 (b;JsoTs (c)\ﬁ 225

(dy1764 (W (PN1296

2. Use the product of perfect squares to find the following square roots.
(anf1296 (by[1089 (c) ?1764 (Rf9216
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1. Use the product of py t squares to fi e following square roots:
(a)/ 1296 (b)/1089 (ch /1764 (d) ;le

2. Find the square root of the following, using prime factorizaion:
(2)4/576 (b)4/ 784 (c)\;2025 (d)/2304
f
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